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Cuadro 17 (continuación 4)/Table 17 (continued 4)
Paraguay: tablas abreviadas de mortalidada

Paraguay: abridged life tables 
a

1990

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.053 0.050  100 000  5 035  95 890 0.944 b 6 587 483 65.9
1 4 0.004 0.016  94 965  1 474  376 149 0.988 c 6 491 593 68.4
5 5 0.001 0.005  93 491   490  466 230 0.995 6 115 445 65.4

10 5 0.001 0.004  93 001   371  464 078 0.994 5 649 214 60.7
15 5 0.002 0.008  92 630   787  461 183 0.990 5 185 137 56.0
20 5 0.002 0.012  91 843  1 139  456 369 0.987 4 723 953 51.4
25 5 0.003 0.014  90 704  1 286  450 305 0.986 4 267 585 47.0
30 5 0.003 0.014  89 418  1 233  444 007 0.985 3 817 280 42.7
35 5 0.003 0.016  88 185  1 414  437 391 0.982 3 373 273 38.3
40 5 0.004 0.020  86 771  1 758  429 462 0.975 2 935 882 33.8
45 5 0.006 0.030  85 013  2 590  418 593 0.963 2 506 420 29.5
50 5 0.009 0.044  82 424  3 615  403 079 0.947 2 087 827 25.3
55 5 0.013 0.063  78 808  4 931  381 713 0.919 1 684 748 21.4
60 5 0.021 0.100  73 877  7 363  350 977 0.879 1 303 035 17.6
65 5 0.031 0.145  66 514  9 641  308 467 0.822  952 058 14.3
70 5 0.048 0.216  56 873  12 264  253 704 0.749  643 590 11.3
75 5 0.069 0.296  44 609  13 204  190 034 0.629  389 886 8.7
80 5 0.126 0.477  31 405  14 981  119 571 0.471  199 853 6.4
85 5 0.191 0.628  16 424  10 317  56 325 0.338  80 281 4.9
90 5 0.266 0.753  6 106  4 599  19 033 0.229  23 956 3.9
95 5 0.346 0.843  1 507  1 270  4 360 0.114 d  4 923 3.3

100 ω 0.421 1.000   237   237   563   563 2.4
Mujeres/Females

0 1 0.040 0.039  100 000  3 899  96 776 0.957 b 7 037 887 70.4
1 4 0.003 0.011  96 101  1 103  381 572 0.991 c 6 941 111 72.2
5 5 0.001 0.004  94 998   427  473 925 0.996 6 559 539 69.0

10 5 0.001 0.003  94 572   300  472 109 0.996 6 085 614 64.3
15 5 0.001 0.005  94 272   491  470 131 0.994 5 613 505 59.5
20 5 0.001 0.007  93 780   638  467 307 0.992 5 143 374 54.8
25 5 0.002 0.008  93 142   770  463 787 0.991 4 676 066 50.2
30 5 0.002 0.010  92 372   890  459 637 0.989 4 212 279 45.6
35 5 0.002 0.012  91 483  1 099  454 667 0.986 3 752 642 41.0
40 5 0.003 0.015  90 384  1 382  448 465 0.981 3 297 976 36.5
45 5 0.004 0.022  89 002  1 943  440 153 0.973 2 849 511 32.0
50 5 0.007 0.033  87 059  2 866  428 132 0.960 2 409 358 27.7
55 5 0.010 0.048  84 194  4 028  410 899 0.941 1 981 226 23.5
60 5 0.015 0.071  80 166  5 721  386 526 0.910 1 570 327 19.6
65 5 0.023 0.111  74 445  8 239  351 625 0.864 1 183 801 15.9
70 5 0.036 0.165  66 205  10 952  303 645 0.795  832 176 12.6
75 5 0.058 0.253  55 253  13 997  241 271 0.674  528 530 9.6
80 5 0.108 0.424  41 255  17 504  162 517 0.517  287 259 7.0
85 5 0.170 0.584  23 751  13 882  84 051 0.375  124 742 5.3
90 5 0.245 0.723  9 869  7 136  31 504 0.255  40 691 4.1
95 5 0.327 0.825  2 733  2 254  8 027 0.126 d  9 188 3.4

100 ω 0.412 1.000   478   478  1 160  1 160 2.4

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


